FROM @ P -
_ _“_H__R_IFEF' YERR MATH PROG FAR HNO. @ BE9e6386E2973 Apr. 27 2883 11:%6PM  P1

King Fahd University of Petroleum and Minerals
College of Sciences
Prep-Year Math Program

' _ Math 002 Exam It |
[Code: Master Term 022 (2002-2003) | | Code: Master |
Sunday, April 27, 2003
Time Allowed: 90 Minutes
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This exam consists of two parts:

Part] : Multiple Choice. Bubble the correct answer on the OMR sheet
Part 11 : Written Provide neat and complete solutions.
Show all necessary steps for full credit.

Calculators, pagers, or mobiles are NOT allowed during this

examination.
[ Question Points | Student’s Score Grader
Part I: Multiple Choice| 12
Part I: Written
| 1 8 Mr Al-Absi
B -2 4. Mr Ahmad
3 3 Dr Al-Attas
4 3 Mr Al-
- ‘ Humaidi
5 3 Mr
Maslamanl
3 Mr Saifullah
L 7 4 Mr Shehadeh
8 4 Mr Yushau

Total
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Part I: (12-pionts) MULTIPLE CHOICE QUESTIONS (MCQ)
[Bubble the correct answer on the OMR sheet]

{.For 0 x<4s, the graphof y= —3scc—;i lies completely below the x-axis on the interval:

@ [0,2) W (37, 47]
b) (7, 37)

¢) 10.7) U (%‘,zm

z 3m."
d) (5,‘5")

2. The expression ~/3sin10° +¢os10” is equal to:

@Zsin 49°
b) 2sin 70°
c) 2sin100°
d) 4sin 20°

sin @

e 18 jdemntical to:
csc@—cotd

3. The expression

cYl+smé
d)l—siné
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4. The domain 17 and the range R of the function f(x) = —3sin " (2x—1) are:

. 3z 3m
@D:LOJ] gR"'{—‘—z"'"w 2]

n n
b) D=[-L11; R=[-2.~
¢) D=[-111; R=[~m.7]

T
d)D={01] ;R —[-E,E]

@Thc expression: sin13%sin73° +sin77°sin17°  is equal tor

®!

: b/
&. The number of the vertical asymptotes to the graph of ¥ =tan (E +2x) over the inerval [0,7]

is equal to;

()3

N2
c)l
dy4
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7. Which one of the following statements 15 FALSE:

4z, 4n
in ! I amr—3 = =
@Sm {sin 5 ) p

o z. 7
tan—) = —
b) tan (nﬁ) 5

dz, 4w
s (cos—) = —=
) cos™ ( 5 )] 5

“pan FFy = E
d) tan” (tan —=) ==

. 1, . 3., .
8, The aumber of solutions of the equation gin?y= Esm 2x over the interval {O,?) is equal to:

@4
by 3
o) 2
41
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Provide neat and complete sofution to each question. Show necessary steps for full credit.]

1. (8-points) Giventhe function

fx)= —2ms(%x—-§)+2

) Th period of fist = 2Efipt = amfirn) = 4 -ee | Poimt

) The phase shif of the graph of fis: =~ Clh = *-(*1?1)/(15&) =1 ..} Poim't

¢) The vertical translation of the graph of fis:- = 2 umids P ] Pa;m"t
d) The amplitude of the graph of /is: =lal =12 =2 o | Paim‘f.‘
e)’[ha-domainoffis: = (—m)m) . PD;M'E‘ .

pThermgeoffis = L0 4] .- ) poimt

2) Use all the above to sketch the graph of f over the interval [0.4].

(34)

(=
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12 .
] 4 . . a2 nadrant I
2. (4-poims) Given sinz=——, & In Quadrant IT, and cos /3 EN pmQ

Eind the exact value of cot(a+ )

of omd B are as Jivem im tla {faliﬂuﬂmj jt;jmres ~

. (—[2 5‘) \‘j
I« N(II\}S .
w _o. 2 PoimlS
T 5% P
oP=s of = 13
?c-a,-ﬂ)
l _ ' /_—- %Wd%&"‘"ﬁ - “Ppi’mk
£ = —_—— = :
% CC_) 9(+E) ’L"""(‘*ﬂg) 7"&/\0{ -+ '/'M/g
| _s
L (F)(-F) |
“ - 3
= +( 7;‘) | Pafrnl_':
_ 36+20 . 56 ~- -
4% — 15 33
3, (3-points) Verify the identity %ﬁ =gscx +cotx
JHS = (os2x+ (23X - ‘3_(‘552){ —) # lasx oo | PDM{Z
IIm2 %= Sim X T 28im% CoSx— Sim%
_ (26s ) L Hlesy) 140X pank
5}me2ta5x--\) Sim R
) -t + (oS4 . ¢sew + et X = EHS
Simy Simx

_—— fPO;Mt



givenm im bl :Figuﬂi
S dempe 2m% _ 207%) ’

[~ ton % - (_q@z. .5 Pm‘nb

= z21  _ 24
-6 =
[0R] tsmo = Simb o 25m%lesD "
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4, (3-points) If csc9=—%, 1;1{9{4?:,&3(:1 the exact value of 8in ~2—
& o g
1T pcun = L2 <2t 5 BadZ g 'Poimfs
»%'_-.e_ o Eh T ngd(a\m{._ﬂ owmd. & an1m tle R—_—
. 'FJ_ﬂ,wr Tﬂ
= sm8 - _\/Es? - o
2 T f (D“\ .
-1 i,
= \JI-5 13 15 per B
Z -~ V5o )5 oP-28
L _,,__é_ PC'?)_.I‘V
2s 9
.. : - 15 2
5. { 3-points) Solve the inverse rigonometric equation; cos™ X+ tan TR
-} =1
= CéS)(:%_fM% ¥ \-LS
=~ 5 15 ) 1.5
= ﬁaﬁ(fasx):CaS(%_;‘m;;) ' P””\, P(1%,5)
=2 X = Sim (+M"i) ) s
J oP=12
Ll Fon” 5 -
A= Tom 2~ ‘ P X
. e_ R ,-»S Pﬂ‘"‘+ﬁ C) ’
'—-'% X an im bhe -ﬁi?ﬂ\f
1 — 5-F
= X = Simo = I3
6. (3-points) Tf cosgﬂ%, 71'-::9<3?ﬂ, find the exact value of tan8 P(;% ) R
3n e , 31 s .
< oce 3 I3 = ‘ + \9/1
9 Voo A L) __5‘ Pd}'l‘ﬂj |
< Isim Gnadrant L omd an o - N
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L x<2n
7. (4-points) Find the exact solutions of the equation tana =ginx, 0Zx
‘é . S. " i-'- Cos x - ij)( - l P@;Mt‘
Shno= b —
e -7 S .‘:% 51,,”{
. & ,
@ o o3y = Zm X -4
- / 2 = Pom'{.'
7 2
= Cosx =— Ceo3 X t
of
v_ﬁ cosx ( casx—1) = O E _ | peim
= CoSy =0 oy (03X =
= £ 3 oy K = 5;4\«'&
= X= 3 °% 1P
ri— ' - _?t g
5';497( = S1m A
ifmpaff,‘m.)e ”Dfe Some ..57‘2«@”'/'5 f”'lb"j

EEN
= Dpssible Sobutims are 0,7 % %, 3% {
= 7 st be reJet‘fFa( Sim ce. +m7" s Ma@ﬂbmw-

. 4 =Y A —sih z ¥
8. ( 4-points) Find the exact value of the expresston: [ cOs 9 cos— | + [sm 5

Z 2

K .
4 ,o
v T g

_(CaS '?'E‘{_ Sim 'f?‘)+ LC:,:S .ytjlﬂ\ ) oy Pmm
—~9 ( (o5 9" (os & 'f Simm Srm ?-C)

_ 2 5:%% Sl-’ﬂ -+ Stm

= /+f- 2 C’aS("LE_r

_.-o—-

2 .. 2 points
9 = 2 e L

R
2 —-2(%)

H

(]



